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Part I Structure and Vocabulary (10 %)

Directions: There are 20 incomplete sentences in this part . For each sentence there are four

choices marked A, B, C, and D. Choose the ONE answer that best completes

the sentence. Then blacken the corresponding letter on the Answer Sheet with a

pencil .

1. The Nazi kept those in their concentration camps.

a. prisoner-of-wars b. prisoners-of-wars

b. prisoners-of-war d. prisoner-of-war

2. Economics among the college students.

a. is one of the basic courses b. is the basic courses

c. are the basic courses d. are one of the basic courses

3. It was a hundred people looked lost in it.

a. so large a room that b. so a large room

c. such large a room that d. such large room

4. Life in city is quite different from in the countryside.

a. what b. that

c. which d. one

5. He an accident, or he would have been there then.

a. must have had b. ought to have

c. should have had d. should have

6. It is essential that all applications in no later than July.

a. must be filled b. filling

c. are filled d. be filled

7. When the boat started to sink, we were really frightened because us could
swim.

a. neither b. either

c. neither of d. either of

8. IfI George had wanted to get up early, I would have woken him.

a. knew b. know

c. have known d. had known

9. Mr. Edwards, health hasn’t been good recently, has gone into hospital for

some tests.

a. his b. who'’s

c. as d. whose

10. It is reported that a new railway

there by the end of the next year.



a. will be built b. will have been built

c. was built d. had been built

11. A teacher may set the best of examples, yet only a few of the students will take
his patterns.

a. into b. on

c. over d. of

12. Starting at its freezing temperature of 0C , and being slowly heated, water contracts

until it a temperature of 4C and then expands.

a. acquires b. gets

c. arrives d. reaches

13. Population growth all other problems; if it is not solved, famine will destroy
us all.

a. exposes b. expands

c. extends d. exceeds

14. When I got home with the cassette recorder, it wouldn’t work. I tried to find the

myself.
a. shortcoming b. fault
c. error d. mistake

15. Writers have always been famous for the strange habits théy get into as they

their lonely work.

a. build up b. care for

c. come to d. engage in

16. We shall be pleased to hear from you further.

a. only too b. too

c. SO d. such

17. 1 that we would win the game.

a. took for granted b. suggested

¢. took it for granted d. requested

18. The difficulties of the country will not diminish unless inexpensive fertilizers

can be widely distributed.

a. economic b. economies

c. economy d. economical

19. We had the greatest difficulty getting here in time.

a. imaginary b. imaginative

c. imagine d. imaginable

20. She is so that she cried for days when her pet rabbit died.
a. sensitive b. sensible

c. touched d. impressive

Part II Reading Comprehension (50% )



Section A

Directions: There are 4¢passages in this part. Each passage is followed by some questions or
unfinished statements. For each of them there are four choices marked A, B,
C, and D. You should decide on the best choice and blacken the corresponding
letter on the Answer Sheet with a pencil .

Question 21 to 25 are based on the following passage:

Just 30 years ago some 700 million people lived in cities. Today the number stands at 1, 800
million, and by the end of the century it will top 3,000 million —more than half the world’s esti-
mated population. By the year 2,000 an estimated 650 million people will crowd into 60 cities of
five million or more --- three-quarters of them in the developing world. Only a single First World
city --- metropolitan Tokyo, which will have 24 million people --- is expected to be among the
global top five; London, ranked second in 1950 with ten million people, will not even make 2,
000’s top 25.

In places where rates of natural population increase exceed three per cent annually --- mean-
ing much of the Third World -—- that alone is enough to double a city’s population within 20
years. But equally powerful are the stréams of hopeful migrants from the countryside.

What faces and confuses urban planners is the huge scale of these trends. There have never
been cities of 30 million people, let alone ones dependent on roads, sewer and water supplies bare-
ly adequate for urban areas a tenth that size. And the flood of new arrivals in swelling Third
World cities far overtakes the supply of jobs --- particularly as modern industries put a premium on
technology rather than manpower. So it will be virtually impossible to find permanent employ-
ment for 30 to 40 per cent of the 1,000 million new city inhabitants expected by the year 2, 000.
Despite the terrible conditions that the city newcomers face, their numbers are growing at rates as
much as twice that of the cities themselves --- and every step taken to improve their living condi-
tions in the slums only attracts more migrants.

- 21. Which of the following is the main topic of this passage?

a. The increase of world population.

b. The improvement of urban living conditions.

¢. The migrants from the countryside and their unemployment.

d. The expansion of cities and its consequences.

22. The author uses Tokyo as an example mainly to show that

a. the biggest cities will still be in First World countries

b. its development speed will be greater than that of London

¢. most of the biggest cities will be in the Third World countries

d. Japanese will keep control of the growth of big cities such as Tokyo

23. Which of the following is NOT true according to the passage?

a. Over half of the world’s population will move to cities by 2, 000.

b. The order of the world’s biggest cities will be changed fundamentally by the year 2, 000
. The world population will reach about 6,000 million by 2, 000.

. The poor countries will suffer more the expansion of cities by 2, 000.
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24. According to the last paragraph, all of the following are true EXCEPT that

a. development of modern technology will reduce the use of manpower

b. urban planners will have no past experiences to borrow

c. the growth of urban population is faster than that of cities

d. the improvement of urban living conditions is to attract more migrants from the country-
side

25. The expression “put a premium on” in line 6, para. 3, can best be replaced by

a. are in need of

b. devote much attention to

c. have no lack of

d. think little of

Question 26 to 30 are based on the following passage:

Presently I got up and dressed, stuck my violin under my jacket, and went out into the
streets to try my luck. It was now or never. I must face it now, or pack up and go back home. I
wandered about for an hour looking for a likely spot, feeling as though I were about to commit a
crime. Then I stopped at last under a bridge near the station and decided to have a go.

I felt tense and shaky. It was the first time, after all. I drew the violin from my coat like a
gun. It was here, in Southampton, with trains roaring overhead, that I was about to declare my-
self. One moment I was part of the hurrying crowds, the next I stood nakedly apart, my back to
the wall, my hat on the pavement before me, the violin under my . chin.

The first notes I played were loud and raw, like a hoarse declaration of protest, then they
settled down and began to run more smoothly and to stay more or less in tune. To my surprise, I
was neither arrested nor told to shut up. Indeed, nobody took any notice at all. Then an old
man, without stopping, stealthily threw a penny into my hat as though to get rid of some guilty
evidence.

I worked the streets of Southampton for several days, gradually acquiring the truths of trade
by trial and error. It was not a good thing, for instance, to let the hat fill up with money --- the
sight could discourage the patron; nor was it wise to empty it completely, which could also con-
fuse him, giving him no hint as to where to drop his money. Placing a couple of pennies in the hat
to start the thing going soon became a regular ritual, making sure, between tunes, to take off the
cream, but always leaving two pennies behind.

Old ladies were most generous, and so were women with children, shopgirls, typists and
barmaids, As for the men; hea‘}y drinkers were always receptive and so were big chaps with mus-
_cles. But never a man with a bowler hat, briefcase or dog; respectable types were the meanest of
all. Except for retired army officers, who would bark “Why aren’t you working, young man?”
and they over-tip to hide their confusion.

26. After the author had left the house, he

a. walked straight to the railway station

b. took a long time to choose a suitable place to carry out his plan

8



c. studied the town to find a good place to commit a crime

d. hurried along with the crowds to catch his train

27. When he first began to play the violin, he expected

a. he Vwould get into trouble ‘

b. people would stop and listen to him

c. people would let him move somewhere else

d. he would play tunes like a declaration of protest.

28. The first man who gave him money

a. was too busy to stop

b. seemed to have broken the law

¢. didn’t want to attract attention

d. dropped the money by mistake

29. According to the author’s experience, what is the best way of encouraging people to give
a street violinist money?

a. To play in different streets.

b. To put all the money in the hat.

c. To leave a small amount of money in the hat.

d. To empty the hat at regular intervals.

30. Retired army officers over-tipped the author because

a. they wanted to cover up their confusion.

b. they wanted to show they were rich

c. they felt sorry for him

d. they wanted him to leave

Question 31 to 35 are based on the following passage:

The Arctic is the polar region. It surrounds the North Pole.

Like Antarctica, the Arctic is a land of ice and snow. Antarctica holds the record for a low
temperature reading -125 degrees Fahrenheit. Readings of 85 degrees below zero are common in
both the Arctic and Antarctica. Winter temperatures avetage 30 degrees below zero in the Arctic.
At the South Pole the winter average is about 73 degrees below zero.

One thing alone makes it almost impossible for men to live in Antarctica and in parts of the
Arctic. This one thing is the low temperature --- the killing chill of the far North and the polar
South.

To survive, men must wear the warmest possible clothing. They mu§t build windproof shel-
ter. They must keep heaters going at all times. Not even for a moment can they be unprotected a-
gainst the below-zero temperature.

Men have a way of providing for themselves. Polar explorers wrap themselves in warm coats
and furs. The cold makes life difficult. But the explorers can stay alive.

What about animals? Can they survive? Do we find plants? Do we find life in the Arctic and
in Antarctica? Yes, we do. There is life in the oceans. There is life on land.

Antarctica, as we have seen, is a cold place indeed. But this has not always been the case.
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Expedition scientists have discovered that Antarctica has not always been a frozen continent. At
one time the weather in Antarctica may have been much like our town.

Explorers have discovered coal in Antarctica. This leads them to believe that Antaretica at
one time was a land of swamps and forests. Heat and moisture must have kept the trees in the
forests alive.

31. Antarctica is

a. a cool place

b. a place warmer than Arctic

c. the coldest place on the earth

d. a cold place

32. What can we infer from the discovery of coal on Antarctica?

a. Antarctica was once a warm continent.

b. Antarctica has been a land covered with trees.

c. Antarctica was once a land of ice.

d. Antarctica was once a land of snow.

33. “They must keep heaters going at all times.” means

a. “They must take heaters with them wherever they go.”

b. “They must keep heaters in a workable condition. ”

¢. “They must keep moving heaters.”

d. “They must keep heaters working.”

34. Which of the following statements is true according to this passage!

a. Even the explorers can not live in Antarctica.

b. You can find life at both poles.

c. Antarctica has always been a cold place.

d. The lowest temperature at the South Pole is — 120 degrees.

35. The expression “providing for themselves” in paragraph 5 means

a. protecting themselves against violent storms

b. making plans which can be carried out easily

c. supplying themselves with basic necessities

d. taking umbrellas in case it snows

Question 36 to 40 are based on the following passage:

Although no one is certain why migration occurs, there are several theories. One theory is
based upon the premise that prehistoric birds of the North Hemisphere were forced south during
the Ice Age, when glaciers covered large parts of Europe, Asia, and North America. As the
glaciers melted, the birds came back to their homelands, spent the summer, and then went south
again as the ice advanced in winter. In time, the migration became a habit, and now, although
the glaciers have disappeared, the habit continues.

Another theory proposes that ancestral home of all modern birds was the tropics. When the
region became overpopulated, many species were crowding north. During the summier, there was
plenty of food, but during the winter scarcity forced them to return to the tropics.
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